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hudwyuwunwuhwiinipjut guuwhwndwt wpyniupubpp: Zudwdjwb nph'

Quihwpwdhl 1:
Qudwt wnwplu E hwtinhuwind® Snunwwbipst qudhyutp

Zpuifph zpunjkph wuhwighbphis
Uwutiuiljgh vjuihuilightphl shudwyyuunuujuwing
hudwywunwujuwing Unhudwwywunuupuwbim pjub
2/Z whjuinudp hupnkp
huyunkp hwdwnnn tjupugpnypoth
/shwdwyuinuupuwmbbint
/hudwyunuujuwibyng oo okt “X7/
nhuypnud ol “X7/ AP 21
1 vwsyup UNC X
2 | Ubpunbubpghu UNC X
3 Eugqbp dSwpdw UNC X
X ‘Ukipjuyugpty | qudwib hwynh ghtip
4 U2 Lunt lvunwwnju qhpuquitgnn qiuhi whwgwpy
Cinpdud
dwutiuljhg
Uwutwlhgutph Untrarygh /pitnpduwd Uwutwygh wnmpwplusd
qruinigpud ghlu
whnk wiijwlnuip \wuliulgh /mnwtg UZZ, huiq. npuad/
np hunfwp kg g » hug. np
X/
1 vwsywup UL X 245
2 Utnunkjuutpyhu UNC 30.0
2 Euqbp dwpdw UNC 30.0
2 U2 Lunt vunwwnjut 37.5

Cunpjws dwubwlghtt npnokint hwdwp Yhpwedws swhwithy Zpubph wwhwbehbphlt  hudwywnwuuwb

bhwpn bt ijwqugnuyb qrutht wpwewply:

Quthwpwdhl 2:
Qudwb wnwplu Ehwinhuwtnid® Lkpddnn peneb qudhlubp

Uwutulgh Zpuykph Zpuwytph ywhwbgutpht | Tthwiwywwnwupwbnipyuh

4z wijuinidp wuwhwbglitinha shudwyunuujuwing hwdwnnn tjwpugpnypnth
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hudwywnwujuwng huyntp
huwjuntp /shwdwyuinuupuwmbbinu
/huduyunuuwibin nhwpnid ok “X7/
nhuwpnud oy X7/
1 U2 Lunt vwnwwnju X
2 | Tuqkp Supdw UNC X
3 wsywp UNC X
X ‘Ukpljuywgnty £ qudwt hwynh ghup
4 Ubnntautpdpu UNC ghpuquignn quuyhtt wpwewply
Cunpyud
dwuliuljhg
Uwutwlhgubkph Umntrarygh /ptinpdud Uwubtwlgh wnwownlud
qpunkgpué ghu
- wijuinudp dwubiulgh Junuta U22, b 0/
NHENE hwdwp Gk g Bhes G- B
CLX’?/
1 U2 Lunt lvwnwnju X 23.1
2 Euqbip dwpdw UNL 31.85
3 vwsywup UNC 34.3
4 Utnuntutpyhu UNC 42.0

Chnpjws dwubwlghtt npnoknt hwdwp Yhpwndws swhwithy Zpunbph wwhwbelbphlt  hudwuwywnwuhuwb

huyn 1 WJwquagnyt qhuhtt wnwewnl:

Quihwpwdhl 3:

Qudwb wnwplu Ehwinhuwinid® Uwwlbebjwhu qudhlubp (Quh$wn)

111211113111“;11;11 b zpunftph wyuhwighbphis
Uwutuligh b oA shuwdwyuunwujuwng
hudwywnuujuwing Unhudwywinuujuubin pjui
2/Z wijuindp hupnkp
huyunkp hwdwnnn tjupugpnypath
/shwdwyuinuupuwmbbint
/hudwyunuujuwibyng b 0 okt “X°/
nhuypnud ok “X”/ Rttt 2
1 Euqtip dwpdw UNC X
Cunpfud
dwubiulhg
Umulilllmlli]llglillll;ph Uwtrarygh /ptnpud Umuhulllg](ll;;lnulgulpllmé
qul?ql?p witnjutmudp Uwubulgh /unwig UzZ, hu wd/
X/
1 Euqlip dwpdw UNC X 125




Chinpwd dwubwlghlt npnokymt hwdwp Yhpunjws swhwihy 2pudbph wwhwbelbphli  hwdwwyuwinwuiwi
hujn U WJwqugnijb quwihtt wpwewnl:

Quhwpwdhl 4:

Qudwb wnwplu £ huwinhuwinid® Updwwnwighy

Zpunfph zpunph wwhwghbphi
Uwutuligh yuhulightiphl shulwyuunuuuwing
hudwywnwujuwing Unhudwywinuujuwbn pjui
2/Z wijuinuip hupnkp
huyunkp hwdwnnwn tjupugpnypnih
/shudwyuinuupiwbnt
/hudwyunuufuwibjng b 0 okt X7
nhupnud ok X7/ ARt 2
1 Eugqbtp dwpdw UNL X
2 vwsyup UNC X
Cinpdud
dwutiuljhg
Uwutwlhgukph Uwitiuaygh /pinnpud Uwutwlgh wnwownplusd
qpunbtgpud ght
ntnk witnjutmup Uuutuligh /unuig UZZ, hw und/
DR hunfwp kg g » wq. p
(‘X)’ /
1 Euqbip dwpdw UNL X 29.25
2 vwsywup UL 32.25

Chnpjws dwubwlghtt npnokint hwdwp Yhpwndws swhwithy Zpunbph wwhwbehbphlt  hudwywnwuuwh

huyn 1 WJwquagny qhuhtt wnwewnl:

Quihwpwdhl 5:

Qudwb wnwplu Ehwinhuwund® Prpshy qunwaligshp) wnipphtuwgh Swipwlwih hwdwn BR 41

Zpukph

Guttgh P T
d hudwywwnwujuwing 2 i Unhudwywnwujuubm pjut
2/Z wijuinuip huuntip
hwyntp hwdwrnun tjwpugpnypntl
/shudwyunuupwithint
/huduyunwuiwubin oot okt “X7/
nhuwpnud oy “X7/ P 2"
1 Utnpukuutpdhu UL X
2 U2 Lunt vunwwnju X
X

3 Euqtip Swpdw UL




Cinpud
dwutiuljhg
Uwutwljhgukph Utnuirarygh /ptnnpud Uwutwlgh wpwownljud
qpunbtgpud ghu
ubnk winjutmup Uuubuligh /unwig UzZ, hu und/
e hutfwp tioby g > wq. I
(‘X)’ /
1 Utnubkputipdhu UNC X 7.9
2 U2 Lunt vunwwnjut 8.0
3 Euqbip dwpdw UNL 16.0

Chnpws dwubwlghtt npnokint hwdwp Yhpwndws swhwithy Zpunbph wwhwbelkphtt  hudwywinwujuwb

huyn b ijwqugnub qiuhtt wnwewiply:

Quuhwpwdhl 6:

Gdwb wnwpluw Ehwighuwtnud® Papghy qunwali(gshn) unipphtiwght dwipwywih hwdwp BR 45

Zpu]tpp zpufbiph wwhwhghbpht
Uwutiuiljgh vjuihuilightphl shudwyyuunuujuwing
hudwywunwujuwing Unhudwwywunuupuwbim pjub
2z wifuinip huguntip
hwjpntp hudwpnun tjupwgpnypnil
/shudwyuunwuiwibnt
/huduyunuufuwithine b £ ok “X7/
nhuypnud k) “X7/ s
1 Utnukjuukpypu UNC X
2 U2 Lunt vunuwnju X
3 Euqtp Swpdw UNC X
Cunpyud
dwutiuiljhg
Uwutwlhgutph Untrarygh /ptinpduwd Uwutuygh wnmgwpljusd
qpunbgnus ght
b wijuimudp dwutwygh Junwiiq U2, b 0/
HENE hudwp ok nuig Bhes AT
KLX’? /

1 Utnukhuutpghu UNC X 7.9

2 U2 Lunt vwunwwnjut 8.0

3 Euqtip dwpdw UNL 16.0

Chnpjws dwubwlghtt npnokint hudwp Yhpundws sunhwithy Zpunliph wwhwbebbphl  hudwyuinwumb
bhwpn 1t ijwqugnyb qiuht wpwewnl:

Quthwpwdhl 7:

Qudwt wnwplw Ehwtinhuwtnid® Papshly qunwaligshp) wnpphuwght dwypwlwih hwdwn BR 46

Uwutuljgh
2/Z wijuinuip

Zpunjkph
wwhwbgtbnhl
hudwywnwujuwng
hupntp
/huduyunuuuwbnt
nhypnud oty “X7/

Zpwykph ywhwbebbphl
shudwyunuujuwing
hwjnkp
/shudwyuunwuiw ik nt
nhupnid ok “X7/

Unhwiwwwunwuumbm pjui
hudwrnun tjupugpnypnii




1 Utpunbjuubkpghu UNC X
2 | TEuqhp Supdw UNC X
Cunpyud
dwutiuljhg
Uwutwljhgubkph Utnufrarygh /ptnnpud Uwubtwlgh wnwownlusd
qpunkgpué ghu
b wijuinudp dwubiwgh Juna U22, b 0/
L hundwp gl | /g DS TG AR
(‘X)’ /
1 Utnukjuutpghu UNC X 9.0
2 Euqbip dwpdw UNL 16.0

Chnpjws dwubwlghtt npnokynt hwdwp Yhpwndws swhwithy Zpunbph wwhwbehkphtt  hudwyuwnwujuwb
hujn U Wwuqugniji quughtt wpwewnl:

Quuhwpwdhl 8:

Gudwb wnwpluw Ehwinhuwtnud® Papghy qunwaligshn) wnipphtiwhu dwipwywih hwdwn BR 49

Zpu]tph zpufbiph wwhwhghbpht
Uwutiuiljgh upubuilightphl shudwyyuunuujuwing
hudwywunwujuwing Unhudwwywunuupuwbim pjub
2z wifuinip huintip
hwjpntp hudwpnun tjupwgpnypnil
/shudwyuunwuiw ik nt
/huduyunuufuwibjne b £ ok X7/
nhuypnud ok “X”/ ARt A2
1 Utnunkjuukpypu UNC X
2 Eugqbip dSwpdw UNC X
Cinpdud
dwutiuiljhg
Uwutiuljhgikpp Uwubiuilgh /ptunpus Uuutiulgh wmpmeupljud
qruinkgpwd ghlu
ubnk wiijwlnuip Uubuligh /unuig UZZ, hw wrd/
L hwdwp Lok g Bes G-I
(LX” /
1 Utnutjuutpghu UNC X 9.0
2 Euqbp dwpdw UNC 16.0

Chnpjws dwubwlghtt npnokint hudwp Yhpundws sunhwithy Zpunliph wwhwbebbphl  hudwyuinwumb
bhwpn 1t ijwqugnyb qiuht wpwewnl:

Quthwpwdhl 9:

Qudwt wnwplw E hwtinhuwtnud® Pnpghy nmwudwal(gshp) nnipphuwht Swjpwlwih hwdwn

Uwutuljgh zpukph Zpuytph yuwhwgutnht Utihwfwyunnuuhrtm pyub
2/Z wijwuinuip wwhwbgbtnht shulwyuunuujuwbing hunfwnnin bljupuqpmypnth
hudwywunwujuwing huynkp prqrap




huwjuntp /shwdwyuinuufuwmbbinu
/huduyunuupwibin nhwpnud oty “X7/
nhuwpnud oy X7/
1 Utpunbtjuukpghu UNC X
2 | Tuqkp Supdw UNC X
Cinpud
dwutiuljhg
Uwubwlhguk Uwubwlgh wnwgwpljud
. llilh mellh Uwublgh /punpus llgl;hh guipy
qullilqlgp witnjutmup Uuubwligh /unuiig UZZ, hw und/
DR hufwp ik g » wq. p
(‘X”/
1 Utnubpuutipghu UNC X 10.8
2 Euqlip dwpdw UNC 19.2

Chnpjws dwubwlghtt npnoknt hwdwp Yhpwndws swhwithy Zpubph wwhwbehkphlt  hudwyuwnwujuwh

huyn b Wjwqugnib qiughtt wnwewiply:

Quthwpwdhl 10:

Qudwl wnwplw Ehwtinhuwtnid®  Pnpghy inwusdwal(gghp) FO 32 F

Zpu]iph zpunjkph wuhwighbphis
Uwutiuljgh vjuhuilightppl shudwyyuunuujuwing
hudwywwnwujuwing Unhudwywunuwuuwbim pjut
2/Z wijuimup huyintp
hwjntp hwdwpnun tjupugpniypnil
/shudwyuunwuuw ik nt
/hudwyunuujuwibyng ool okt “X”/
ntuypnud k) “X7/ AP 28l
1 Utnukjuukpypu UNC X
2 Euqtp Swpdw UL X
Cunpyud
dwutiuljhg
Uwutrwuljhgkph Umubrarygh /ptnnpud Uwubwlgh wowownljud
qpun kgpwbd ghu
whnk wijwlnuip Hwutuligh /unwtg UzZ, huq. npuad/
np hufwp bk g » hwq. T
(LX)’ /
1 Utnutjuutpghu UNC X 54
2 Euqbp dwpdw UNC 9.6

Chnpjws dwubwlghtt npnoknt hwdwp Yhpwedws swhwithy Zpubph wwhwbelbphlt  hudwwywnwuluwb

hujn b tjwqugniyb qiuhtt wnwewipl:

Quithwpwdht 11:

Gudwb wnwpluw Ehwighuwbnud® Pnpshy $hunipuiht (gshn upwdwn)




Zpunlph zpunbph wwhwhbgbpht
Uwutuljgh vuhuiglkphl shudwyunuujuwing
hudwywnwujuwng Unhuwdwwwunwufumbm pjui
2/z wijuinuip hujuinkp
hupntp hudwpnun tjwpugpnypnii
/shudwyuunwuiw ik nt
/hudwyuwnuufuwibjng oo okt “X7/
nhuypnud oy “X7/ =P 2"
1 Utgunbjuukpyhu UNC X
2 Euqtip Swpdw UL X
Cunpyud
dwuliuljhg
Uwutiuljhgitkipp Uwtrarygh /ptunpius Uuuiulgh wnmgwpljusd
qpuinigpwd ghu
ubnk witnjutmup Uuubuligh /unuig UZZ, hw und/
It hudwp tply g% -
CLX’? /
1 Utnutjuutpghu UNC X 9.0
2 Euqtip dwpdw UNC 16.0

Chnpjws dwubwlghtt npnokynt hwdwp Yhpwndws swhwithy Zpunbph wwhwbelkphtt  hudwywnwujuwh

huyn 1 WJwquagny qhuhtt wnwewnl:

Quihwpwdhl 12:

Qudwl wowplw Ehwighuwinud® Papghy ojpwal

Zpulph zpunftph wyuhwighbphis
Uwutuligh upubuitightphl shwlwyuwunwujuwng
hudwywnuujuwing Unhudwywinuujuubn pjui
2/Z wijuindp hupnkp
huyunkp hwdwnnwn tjupugpnypath
/shwdwyuinuupumbbint
/hudwyunuujuwibyng b 0 okt X7
nhuypnud ok “X”/ Rttt 2
1 Utgunbjuutpyhu UNC X
2 Euqtp Swpdw UNC X
Cuwnpud
dwubiulhg
Uwubwlhgutph Uwtrarygh /ptnpud Uuutuygh wnwewpljusd
qpunbtgpud ght
wbnk witnjutnudp Uuubuligh /wunwig UZZ, hw und/
Pe huwp ik ) » Iwq. p
“X7/
1 Utnukhuutpghu UNC X 54
2 Euqlip dwpdw UNC 9.6

Chinpud dwubwlghlt npnokymt hwdwp Yhpungws swhwihy 2pudbph wwhwhetbphll  hwdwwyuwinwuiwi
hujn U WJwuqugniyb quwihtt wpwewnl:

Quihwpwdhl 13:




Qudwb wnwplu Ehwinhuwinid® Pnpshy hwhwnwps Ynuwsl

Zpunlph zpunbph wwhwhbgbbpht
Uwutuljgh vjuibuiglkphl shudwyunuuuwing
hudwywnwujuwing Unhudwywinuujuwbn pjui
2/Z wijuinuip hupnkp
huyunkp hwdwnnwn tjupugpnypnth
/shudwyuinwupiwbnt
/hudwyuwnuufuwibjne oo okt “X7/
nhuypnud oy X7/ AP 2"
1 Utnukubpdhu UNC X
2 Euqtip Swpdw UL X
Cunpyud
dwuliuljhg
Uwutwlhgukph Umntrarygh /ptinpdud Uwutwlgh wnwownplusd
qpunkgpué ghu
— wijuinudp dwubiulgh Junuta U22, b 0/
NHENE hwdwp Gk g Bhes G- B
(‘X)’ /
1 Utnubkpuutipghu UNC X 5.4
2 Euqbip dwpdw UNL 9.6

Chnpjws dwubmlghtt npnokimt hwdwp Yhpundws sunhwihy Zpunbph wwhwbehbphl  hudwwywnwuluwb

huyn 1 WJwquagnyt qhuhtt wnwewnl:

Quhwpwdht 14:

Qudwb wnwplu Ehwinhuwund® Pnpshy qunwal (gshp) defuwihyulwu

Zpu]tph zpufbph wwhwhghbpht
Uwutuligh ypuhurligtiphl shudwyuunuuuwing
hudwywnuujuwing Unhudwywinuujuubn pjui
2/Z wijuindp hupnkp
hwjntp hwdwpnun tjupugpniypnil
/shudwyuunwuuw ik nt
/huduyunwuupwuibin b 0 okt X7/
nhuypnud ok “X”/ TRHpn H28
1 Utgunbjuutpyhu UNC X
Cunpfud
dwubiulhg
Uwutwlhgutpp Uwtrarygh /ptunpud Uuutwuygh wnwpwpljusd
qpunkgpud ght
ubnk witnjutmudp Uwubulgh /unwig UzZ, hu wd/
((X)) /
1 Utnukhuutpghu UNC X 9.9

Chnpjws dwubwlghtt npnokint hwdwp Yhpwedws swhwihy Zpubph wwhwbebbphtt  hudwywnwuuwb
bhuwjun b tjwqugnib qiuhtt wnwewiply:




Quithwpwdhl 15:

Qudwl wnwpluw Ehwinhuwind® Unwduwpnidwlwt ppwddhsubin

Zpuiph zpunjkph wyuhwighbphs
Uwutiuljgh vjuihuiigltphl shudwyyunuujuwing
hudwywunwujuwing Unhuiwwwunuwuhuwbim pjui
2z wijuinidp huguntp
hwjntp hudwpnun tjupugpnypntl
/shudwyuunwuiw ik nt
/hudwyuwnuufuwibjng oo okt “X7/
nhuypnud ok “X7/ =P 28l
1 wswwp UNC X
2 Euqtip Swpdw UL X
3 | Ubpnbuukplhu UNC X
X ‘Ukipuyugpl) b qgudwil hwynh ghtip
4 U2 Lunt vunuwnju qhpuquibgnn qiuhi whwgwpy
Cinpdud
dwutiuljhg
Uwutwlhgukph Umntrarygh /ptinpdwd Uwutwlgh wnwownplusd
qpun kgpwd ght
nhnk wliulinuip Huwutligh /mnwtg UZZ, huiq. npuad/
np hunfwp kg g » hug.
(‘X)’ /
1 vwgyyup UNC X 31.5
2 Euqbip dwpdw UNL 32.4
3 Utnunkukpdhu UNC 36.0
4 U2 Lunt vwunwwnju 45.0

Chnpjws dwubwlghtt npnokint hudwp Yhpwndws suhwihy Zpunbph wwhwbehbphll  hudwyuinwuwb

huyun b Wjwqugnib qiuhtt wnwewiply:

Quihwpwdhl 16:

Qudwb wnwplju Ehwinhuwinud® Unwduwpnidwlwt Epuljwywnnp

Zpuifph zpunftph wyuhwighbphis
Uwutuligh vuhuibglibphl shuwdwyuunwujuwng
hudwywnwuiwing Unhwdwwwwnwuhru b pjub
2/Z wijuinuip huuntip
hwyntp hwdwrnun tjwpugpnypntl
/shudwyunuupwithint
/huduyunuuiwubin oot okt “X7/
nhuypnud oty “X7/ P 2"
1 UR Lunt vwnwwnju X
2 Fwsywup UNC X
X

3 Utnubkubpdhu UNC




Cinpud
dwutiuljhg
Uwutwljhgukph Utnuirarygh /ptnnpud Uwutwlgh wpwownljud
qpunbkgpud ghu
ubnk winjutmup Uuubuligh /unwig UzZ, hu und/
L hudwp ok g 154 g A
(‘X” /
1 U2 Lunt vwnwwnjub 2.6
2 wsyywp UNC 3.2
2 Utnutuutpdhu UNC 3.2

Cuunpws dwulwlghll npnokynt hwdwp Yhpwndws suthwbhy Zpudbph wwhwbelbpht  hudwwywnwujuwi

huyn b WJwqugny qhuhtt wnweownlh:

Quhwpwdht 17:

Qudwb wnwplu Ehwinhuwunud® Uuybn dewnnuywu pnhdun

Zpu]tph zpufbiph wwhwhghbpht
Uwubuligh upubuilightphl shuwdwyuunwujuwing
hudwywnuujupwming Unhudwywinuujuumbtim pjut
2/Z whjuinuip hupnkp
hwjpntp hudwpnun tjupwgpnypnil
/shudwyuunwuiwibynt
/hudwyunuupuwibjne b £ ok “X7/
nhupnud ok “X”/ ARTRtE A2
1 U2 Lunt vwnwwnjub X
2 Jwsywp UNC X
3 | Ubpublukpdhu UNC X
X Ukipuyugply E qudwt hwynh ghup
4 Eutha fDulpL[ul e glipuquignn quuyhtt wnwewnly
Cunpyud
dwutiuiljhg
Uwutiuljhgikpp Uwubiuilgh /ptunpus Uuutiulgh wmpmeupljud
qpunbkgpud ghu
b wijuinudp dwutwygh Junuta U22. b 0/
ubnbkpp hunfup ol | OPWUg Ue% b, ppw
(LX)? /
1 U Lunt vwnwwnjut X 7.6
2 vwswyup UL 10.4
3 Utnukhuutpghu UNC 12.0
4 Euqbp dwpdw UNC 24.0

Cunpjws dwubwlghtt npnoknt hwdwp Yhpwedws swhwithy Zpubph wwhwbehbphlt  hudwywnwuuwh

hujn b tjwqugniyb qiuhtt wnwewipl:

Quithwpwdhl 18:

Qudwt wnwplw Ehwinhuwtnud® Snipphuwjht - dwjpwwy nyuny

Uwutuljgh

2z wijuinidp

Zpunftph
wuwhwbglitinha

Zpwykph ywhwbebbphl
shudwyunuujuwing

Unhudwywnwujuwbm pjui
hwdwnnn tjupugpnypnth
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hudwywnwujuwng huyntp
huwjuntp /shwdwyuinuupuwmbbinu
/huduyunuuwibin nhwpnud ol “X7/
nhuwpnud oy X7/
1 Utnukjuukpypu UNC X
2 wsywp UNC X
Cinpud
dwutiuljhg
Uwutiuljhgikipp Uwtrarygh /ptunpus Uuutmlgh wnmgwpljusd
qpuntgpud ghu
untnk witnjutmup Uuwubwligh /unuiig UZZ, hw und/
L hundwp ok g Bos g an
(‘X” /
1 Utnukuutpdhu UNC X 92.0
2 vwsyup UL 100.0

Chnpjws dwubwlghtt npnoknt hwdwp Yhpwndws swhwithy Zpunbph wwhwbehkphtt  hudwyuwnwujuwh
hujn U Wwqugniji quwhtt wpwewnl:

Quuthwpwdhl 19:

Qudwt wnwplw Ehwinhuwinid® Ubkjuwuhywlwu dhypnawndhs

Zpu]tph zpufbph wwhwhghbpht
Uwutiuljgh vjuhuitightphl shudwyyuunuujuwing
hudwywwnwujuwing Unhuiwywunwuuwbim pjut
2/Z wijuimup huyintp
hwjntp hwdwpnun tjupugpniypnil
/shudwyuunwuuw ik nt
/huduyunuupwuibin b Tkt “X7
nhypnud ok “X7/ TR H25]
1 Utnukjuukpypu UNC X
X ‘Ukipuyugpty | qudwib hwynh ghtip
2 Twsuyup TAC ghpwquignn quuyhtt wpwewply
X ‘Ukipuyugpty | qudwl hwynh ghtip
3 U2 Lunt lvunwwnju qtpuquitign qiuht wnwgul
X Ukipuyugply E qudwt hwynh ghup
4 Eutha fDulpL[ul uic glipwquignn quuyhtt wnwewnly
Cunpdwmd
dwutiuljhg
Uwutrwljhgukph Umubrarygh /ptnnpud Uwutwlgh wowownlud
qpun kgpwbd ghu
ubnk wijwlnuip duutimgh /unuig UZZ, hw wrd/
L hwdwp Lok g Bes G-I
(LX)? /
1 Utnunkuutpyhu UNC X 24.0
2 Twswwp UL 60.0
2 U2 Lunt vwnwwnjuh 52.0
2 Euqbip dwpdw UNC 250.0

Chnpjws dwubwlghtt npnokint hwdwp Yhpwedws swhwihy Zpubph wwhwbelbphll  hudwuwywnwujuwb
huyn b tjwqugnib qiuhtt wnwewipl:
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Quthwpwdht 20:

Qudwt wnwplw Ehwinhuwtnid® Lkpwpyhs  wubinny 1d) /huunyhup/

Zpu]tpp zpufbiph wwhwhghbpht
Uwutiuljgh vjubuilightphl shudwyyunuujuwing
hudwywunwujuwing Unhuiwwwunuwuhuwbim pjui
2z wijuinidp huguntp
hwjntp hudwpnun tjupugpnypntl
/shudwyuunwuiw ik nt
/huduyunuuiwtint brpmd okt X/
nhupnud ok “X”/ EHREE T2h
1 Lunt b Lurdwp X Ukpluyugpt) k qudwl hwynh ghup
nhnuwnnit UNC ghpuquiignn quught wnwewpl
X ‘Ukpluywgnty k qudwb hwynh ghup
2 Wuwiyuguip UG qlpwquiignn qluyhl wewgwpy
Cunpyud
dwubiuljhg
Uuutulhgk Uuuiiulgh wnmgupljud
qpmqllzgfmbph Uwubulgh /munpyud llgl:}hh gwipy
ntnk witnjutmup Uuutuligh /unuiig UZZ, hw und/
DR hunfwp by g » IWQ. T
CLX’? /
Lunt b Ludwp
1 phquunnia UNC 600
1 wsyup UNC 60.0
Cupuguiljupgp hupnwpupdty b shuyugus:
Quihwpwdhl 21:
Qudwb wnwpluw Ehwinhuwinid® Lnwwjht windpwuynish wnihdbphqughwih jwduy
Zpufph zpunftiph wuthwighbphis
Uwutuligh vuhutbglibphl shuwdwyuunwujuwng
hudwywnuujuwing Unhudwywinuujuubn pjui
2/Z wijuindp hupnkp
huyunkp hwdwnnn tjupugpnypath
/shwdwyuinuupuwmbbint
/hudwyunuujuwibyng ko okt “X7/
nhuwpnud oy “X7/ P 2"
1 Utnukjuukpypu UNC X
2 wsywp UNC X
X ‘Ukipjuyugpty | qudwb hwynh ghtip
3 Euqtip dupdw UNC ghpwquignn quuyht wpwewnly
X ‘Ukipjuyugpty | qudwb hwynh ghtip
4 U2 Lunt vwnwwnjub qhpuquiignn qlrughis wnugwnl
Cunpfud
dwubiuljhg
Uwutwlhguk Uuubwulgh wnwewpljusd
ququI?mbph Uwubwlgh /punpud llgl;lm gwipy
utntpp witnjutmudp Uuutimygh /mnwig UZZ, hwq. npuad/
hundwp ok ’ ’
({X’) /
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1 Ukpnthutpyhu UNC X 30.0
2 Twswup UNC 35.0
3 Euqbip dwpdw UNL 54.0
3 U Lunt vwnwwnjut 50.0
Conpués dwubtwmlghtt npnobnt hwdwp  Yhpundws  swihwthy  Zpwdbph  wwhwbetbinht

hudwwwunmwuhimt hupn b idwqugni giuhtt wnwewnly:

Quhwpwdhl 22:

Qudwb wnwplu Ehuwinhuwind® Uygwuubph hwjwpwsdnt dwuwlywu- jupuwwnwdubph hbnwgdwt hwdwp

Zpunfph zpunph wwhuwhghbphi
Uwubuwligh vjubuilightphl shuwdwyuunwupuwing
hudwywnwujuwing Unhudwywinuujuwbn pjui
2/Z wijuinuip hupnkp
huyunkp hwdwnnn tjupugpnypath
/shwdwyuinuupuwmbbint
/hudwyunuujuwibjng b 0 okt X7
nhuypnud ok “X”/ Rttt 12
1 | Ubgububpghu U0 X
2 | U2 Lunt unuwnjul X
Cunpyud
dwutiuljhg
Uwutwlhgukph Umntrarygh /ptinpdwd Uwutwlgh wnwownplusd
qpunbkgpud ghu
-y wijuimudp dwutwygh Junuta U2, b 0/
NHIENE hwdwp Gk nuig Bhes AT
((X)? /
1 Utnubpuutpghu UNC X 40.0
2 U2 Lunt vwpwwnjub 41.0

Chnpjws dwubwlghtt npnokint hudwp Yhpundws suhwihy Zpuniph wwhwbebbphl  hudwuyuinwuwb
huyun b Wjwqugnyb qiughtt wnwewiply:

Quthwpwdht 23:

Qudwh wowpu E huwtinghuwbinod® Uinwduwpnidwwu hnyhs (rmagmnka)

Zpuiph zpubph wuwhwhglbpht
Uwutuljgh vjuihuiglkphl shudwyunuuuwing
hudwywnwuiwing Unhwdwwwunwuhru b pjub
2/Z wijuinuip huuntip
hwjuntp hwdwnnun Wjupwugpnypnth
/shudwywinwupuwik)nt
/huduyunuuiwtbnt I
nhuypnud oty “X7/ AP 2"
1 U2 Lunt vunwwnjut X
2 vwsyup UNC X
3 Utgunkuukpyhu UNC X
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Cinpud
dwutiuljhg
Uwutwljhgukph Utnuirarygh /ptnnpud Uwutwlgh wpwownljud
qpunbkgpud ghu
ubnk winjutmup Uuubuligh /unwig UzZ, hu und/
e hufwp ik ) » IWq. O
(‘X)’ /
1 UR Lunt vwnwwnjui X 3.25
2 Fwswup UNC 35
3 Utnunkuutpyhu UNC 4.0

Chnpws dwubwlghtt npnokint hwdwp Yhpwndws swhwithy Zpunbph wwhwbelkphlt  hudwwywinwuhiwb
hujn U WJwqugniyb quwihtt wpwewnl:

Quuhwpwdht 24:

Qudwt wnwplw Ehwinhuwiniud® Unwduwpnidwwt hwytihutbip

Zputph whwhgukpht
shuwdwyuunwujuwing
huynkp
/shudwyuunwunw ik nt

Unhudwywinuujuumbtim pjut
hudwpnun tjupwgpnypnil

Zpunjph
whwligbitinhtt
202 1I11}il111111111tllil11111 111_?[11 hm1?1111111u1m$11u11'11111111i1nq
t hwjpntp
/huduyunuupwuibin

nhuypnud ok “X”/

nhupnid k) “X7/

1 U2 Lunt vwnwwnjub X
2 Utnunkukpdhu UNC X
3 Euqtp Swpdw UL X
4 Jwsywp UNC X
Cinpdud
dwutiuljhg
Uwutwlhgutph Untrarygh /pitnpduwd Uwutulgh wnmpgwpljusd
qpunbkgpud ghu
b wijuinudp dwuwygh / tq U2 b 0/
nbnkpp hurfwp k] wnwtg UZ2Z, hwq. gpu
((X))/
1 U Lunt lvwnwnju X 10.0
2 Utnunbuutpyhu UNC 22.0
3 Euqlip dwpdw UNC 24.0
3 vwywwp UL 24.0
ChunpJws  dwubwlghtt  npnolnt hwdwp  Yhpunjws  swihwihy  Zpundbph  wwhwbetbphi

huwdwywwnwuhiwt huyn b idwqugnyb qaiuhtt wpwewpl:

Quthwpwdht 25:

Qudwt wnwplw Ehwtinhuwtnud® Gpplwdwudwt nwwn /jwnnly/ dhoht swihh

Uwubwligh

2/Z wijuinuip

Zpunjkph
wuwhwbglitinha
hudwywnwujuwng
hupntp
/huduyunuuuwbnt
nhuwpnud oy X7/

Zputph wwhwhgukpht
shudwuunuujuwing
hwjnkp
/shudwyuunwuiw ik nt
nhwpnid k) “X7/

Unhwiwwwunwuumbm pjui
hudwrnun tjupugpnypnii




1 Utgunbjuukpghu UNC X
‘Ukpljujuignty E qdwn hwpnh ghtip
2 Mwugup UG X qpuiquiignn ginughtt wowgwpl
Cinpud
dwutiuljhg
Uwutwlhgubkph Utnufrarygh /ptnnpud Uwubtwlgh wnwownlud
qpun kgpwéd ght
b wijuinudp dwubiwgh Junwiq U2z, b 0
utntpp hundup ply |/ 27WUg U2Z hug. ppu
(‘X” /
1 Utnukjuutpghu UNC X 15.0
2 wsywup UL 35.0

" zpudtiph wwhwbehkphtt hudwwywnwumb hwpn b uqugnyi ghught wpwewply:

Quuthwpwdhl 26:

Qudwl wnwplw E hwinhuwinid® Gngqung

Zpu]iph zpunjkph wuhwighbphis
Uwutiuiljgh vjuihuilightphl shudwyyuunuujuwing
hudwywunwujuwing Unhudwwywunuupuwbim pjub
2/Z wijuimup huyintp
hwjntp hwdwpnun tjupugpniypnil
/shudwyuunwuuw ik nt
/huduyunuufuwibjng bwpnid foky “X7/
ntuypnud k) “X7/ AP 28l
1 U2 Lunt vwnwwnju X
2 | Ubpububpghu UNC X
Cunpyud
dwutiuiljhg
Uwutiuljhgikpp Uwubruilgh /ptunpus Uuutiulgh wmpmeupljud
qpun kgpwbd ghu
b wijuinudp dwubulgh Junwitiq U2, b 0/
nbnkpp hurdup tipky wnutg UZZ, hwq. gpur
(LX)? /
1 U2 Lunt vunwwnjut X 30.0
2 Utnunkjuutpyhu UNC 33.33

Chnpjws dwubwlghtt npnokint hudwp Yhpundws sunhwithy Zpunliph wwhwhbebbphl  hudwyuinwumb

huyn b tjwqugnib qiuhtt wnwewipl:

Quhwpwdht 27:

Qudwb wnwplu Ehuwinhuwinid® Unwduwpnidwlwt niubh




Zpuykph

Zpuyk whuwbgiikpht
Uwutuljgh vjuhwiglkppl ghﬁ[iiﬁmmuﬁmhii
218 it hudwywnwujuwng hunk Unhuwdwwwunwufumbm pjui
witrjuibnuip hupntp HHnER hudwpnun tjwpugpnypnii
/shudwyuunwuiw ik nt
/hudwyuwnuufuwibjng oo okt “X7/
nhuypnud oy “X7/ =P 28l
1 Utgunbjuukpyhu UNC X
X ‘Lkipuyugpl) b qgudwit hwynh ghtip
2 | U2 Lunt unuwnjul qkpuquitignn qliughis wnugwnl
Cinpud
dwutiuljhg
Uwutiuljhgikpp Uwtrargh /ptunpus Uuubmlgh wnmgwpljusd
qpulqhé;pmb wijubnudp dwuiwulgh / " U.;Zh 1;1u1 and/
wtnbkpp hunfup ik | OP0Ug Ua% huwg. 1p
CLX’? /
1 Utnukuutpdhu UNC X 135
2 U2 Lunt vunwwnjut 21.0

Conpyus  dwubtmlghty

npnokint

hudwp  Yhpunus

swuithy

hulwwwunmwuhiwbt hupn b idwqugni gunht wnwewnly:

Quthwpwdhl 28:

Zpubkph  wwhwbelkpht

Qudwt wnwplw Ehwiinhuwiniud® Unwdtwpnidwlwt pnwn dblwugudjw ogunwgnpddwu

Wwqugnyu qutph hwjwuwpmpui hhupny papuguljupgp hwpunwpupgt b shuyugus:

Zpuifph zpunftph wyuhwighbphis
Uwutiuljgh vjuhuitightphl shudwyyuunuujuwing
hudwywwnwujuwing Unhuiwywunwuuwbim pjut
2/Z wijuimup huyintp
hwjntp hwdwpnun tjupugpniypnil
/shudwyuunwuuw ik nt
/huduyunuupwibnt bwpnid foky “X7/
ntuypnud k) “X7/ AP 28l
‘Ukpjuyugpti) £ hwduuwp
1 Pwsugup UNC X ujuquqny ghuyghtt wnwewply
X ‘Ukpjuyugpt) £ hwduuwp
2 Utnkhautpihu UG tjuquqgnyt guughtt wnwewnly
Cunpfud
Uwutrwljhgukph Uuwutihg Uwutwlgh wowownlud
gun Uwutmlygh /punpJus g eun

qpun kgpwbd ghu

& witnjutmudp Uwubulgh /unwig UzZ, hu wd/
nbnkpp hurdup Gk g U2z, hugq. np
“X7/

1 vwsyup UL 2.75
1 Utnubkhiutipghu UNC 2.75
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Quthwpwdhl 29:

Qudwt wnwplw E hwtinhuwinud® <Gdnunwwnhy 304;

Zpukph

wuhwbobkph Zpuykph wwhwbgubphl
Uwutiuljgh shudwyyunuujuwing
hudwywunwujuwing Unhuiwwwunuwuhuwbim pjui
2z wijuinidp huguntp
hwjntp hudwpnun tjupugpnypntl
/shudwyuinuupiwbnt
/hudwyuwnuufuwibjng oo okt “X7/
nhuypnud ok “X7/ AP 2"
1 Utgunbjuukpyhu UNC X
2 U2 Lunt vunwwnjut X hpluyugpty | gufub hupap ghtp
qlpwquiignn qluyhl wewgwpy
Cinpdud
dwubiuljhg
Uwutiulhgikpp Uwtrargh /ptunpus Uuutiulgh wnmgupljud
qpuinigpwd ghl
nhnk wiwlnuip \wuliulgh /mnwtg UZZ, huiq. npuad/
np hunfwp kg g » hug.
CLX’? /
1 Utnukuutpdhu UNC X 2.6
2 U2 Lunt Mwnwwnjul 3.0

Chnpjws dwubwljghtt npnoknt hwdwp Yhpwedws swhwithy Zpunbph wwhwbebbphtt  hudwywnwuuwh

huyn b Wjwqugnyb quuhtt wpwewipl:

Quihwpwdhl 30:

Qudwt wnwplw E hwinhuwinud® dwdwuwlwynp yindpwipnye Hunhtu dwénty Ywd hwdwndbp

Zpufph zpunftph wyuhwighbphis
wwhwgubinhti
Uwutiuljgh shudwyuunmujuming
hudwywwnwujuwing Unhuiwywunuuuwbim pjut
2/Z winjuimup huyintp
huyunkp hwdwnnn tjupugpnypath
/shudwyunuupwithint
/huduyunuupuwibing bwpnid foky “X7/
nhuwpnud oy “X7/ P 2"
1 | Ubpnkhubphu UnC X
X ‘Ukpjuyugpty | qudwb hwynh ghtip
2 UR Lunt vwnwwnju qkpuquiignn qlrughts wnugwny
Cunpfud
dwutiuljhg
Uwutwljhgukph Utnuirarygh /ptnnpud Uwutwlgh wpwownlud
qpun kgpué ghu
b wijuinudp dwubulgh Juna U22, b 0/
L hundwp gl | g DS TG AR
(‘X’, /
1 Utnukjutpghu UNC X 8.5
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U2 Lunt vwnwwnjuh

10.0

Chnpjws dwubwlghtt npnoknt hudwp Yhpwndus swhwihy Zpudbph wwhwbelibpht  hwdwywnwujuwh

huyn b WJwqugny qhuhtt wnwewnlh:

Quthwpwdht 31:

Qudwt wnwpluw E hwtinhuwinud® Uwény wugquijwgunn Hghn Yud hwdwpdtip

Zpu]tpp zpufbiph wwhwhghbpht
wyuwhwghitinha
Uwubuwligh shwdwyuunwupiwnng
hudwywnwujuwing Unhudwywinuujuwbn pjui
2z wijuinidp huguntp
huwjntp hudwpnun tjupugpnypnil
/shudwyuunwuiw ik nt
/huduyunuupuwuibjne b { ok X7/
nhuypnud ok “X”/ TRHpn E28
1 U2 Lunt vwnwwnjub X
2 |  Ubpunbubpghu UNC X
Cinpdud
dwutiuljhg
Uwutwlhgukph Uwitiuaygh /ptnnpud Uwutwlgh wnwownplusd
qpuntgpud ght
ntnk winjutmup Uuutulgh /unuiig UZZ, hw und/
np hunfwp kg g » hug. np
((X)? /
1 U2 Lunt vwnwwnju X 4.8
1 Utnukuutpdhu UNC 52

Chnpjws dwubwlghtt npnoknt hwdwp Yhpwndws swhwithy Zpunbph wwhwbelbphlt  hudwyuwnwuuwb
hujn Ut WJwqugnijb quwhtt wpwewnl:

Quthwpwdhl 32:

Gulwl wewplw Ehwinhuwbtmd® Pndhy nwlnhp nuuwht Yupdpwgdwt, Ywighnuh hhnpopuhn wwpniuwynn

Uwutuljhgbpp huynbp sk ubpuyugpty: Cupuguljupgp huypnwpupyby | sjuyugus:

Quithwpwdht 33:

Qudwt wnwplw Ehwtnhuwtnud® Updwunwfunnnjuyh windpwujnye Eunndbpwgnt jpwiwqd fud hwdwpdbp

Uwutuljgh

2/Z wijuinuip

ZpunJkph
wuwhwigtbnht
hudwwywnwupouimn
hwyntp
/huduyunuuwibnt
nhuypnud oty “X7/

Zpwytph wwhwbgbbphl
shudwyunuuuwing
hwjntp
/shudwyuunwuiw ik nt
nhwpnud ok “X*/

Unhwdwwwunwuhru b pjub
hwdwrnun tjwpugpnypntl

1 Euqbp dwpdw UNC

X

‘Ukpjuywgnty £ qudwt hwynh ghup
qlpuquiignn quught wrwgwipl
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Cunpyud
dwuliuljhg
UmuhmEbghl;ph Utnufrarygh /ptnnpud Umuhmllgl;;nmgmpllm&
qpufgqum wijuinudp dwubiwgh Juna U22, b 0/
L{X’) /
1 Euqtip dwpdw UL 180.0

Cuipugulupgp hupnwpupyt) b shuyugus:
Quhwpwdhl 34:

Qudwt wpwpluw L hwinhuwinud® Updwwnwfunnnduyh windpwujnye hwdwpwdnt thngh + pnidhs htinniy+ hbnniy
Yuwndpwgdwu hwdwp

Zpuk
h ftﬁlh " zpufbiph wwhwhghbpht
Uwutiuiljgh vjuihuitightny shudwyyuunuujuwing
202 S hudwywunwujuwing husnk Unhudwwywunuupuwbim pjub
t hwjpntp Jinte hudwpnun tjupwgpnypnil
/shudwyuunwuiw ik nt
/huduyunuufuwibjne oo okt “X7/
nhuypnud ol “X7/ AP 21
1 | Ubpnkhubpfhu UNC X
X ‘Ukpjuywgnty k qudwb hwynh ghup
2 U2 Lunt vunwwnju qhpuquiign qlughts whugwny
Cinpdud
dwutiuljhg
Uwutwlhgutph Untrarygh /pitnpduwd Uwutuygh wnmgwpljusd
qpunfignus trubm U qhu
wtntpp witnjutmudp wubwgh /unwug UZZ, hwgq. npud/
hundwp ok ’
((X)) /
1 Utnubpuutipghu UNC X 9.6
2 UR Lunt vwnwwnju 16.8

ChunpJuws  dwubwlghtt  npnolnt hwdwp  Yhpunjws  swihwihy  Zpundbph  wwhwbelkphi

hudlwywwnwuhiwbt hwjn b bduqugnii ghuhtt wpwewnl:

Quthwpwdhl 35:

Qulwt wpwplu b hwinhuwtind®  Uwwybhnundbpwiht niuhybipuwg nbuwngbunynunpwuwn uniyp -
wwwlbhnundbpwihtu gbidtuw

Uutruygh Zpwykph Zpwykph ywhwbebbphl
22 wirjurbnup wuwhwlgbbkphla shudwyuinuupubting | Tthudwuyuinuujuubn pyui
hudwywwnwujupwming huwjntp hwdwnnn tupwuwgpnypnth

huwjunkp /shudwyunuupuwmithny
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/huduyunuuuwbnt
nhwpnud ok X7/

nhwpnud ok “X7/

1 | Ubpunkhubpghu UNC X
2 | U2 Lunt vwnwinyub X
Cinpud
dwuliuljhg
Uwutiuljhgitkipp Uwtrarygh /ptunpius Uuuiulgh wnmgwpljusd
qpuntgpud ghu
untnk witnjutmup Uuubuligh /unuiig UZZ, hw und/
DR hufwp toby g » Q. I
L{X’)/
1 Utnukuutpdhu UNC X 40.0
2 U2 Lunt vunwwnjut 40.5
Chnplws  dwubwlghtt  npnoknt  hudwp  Ghpungws  swhwihy  Zpwdbph  wuwhwbelbphi

huwdwywunwuhiwt huyn b iduwqugnyb quuhtt wpwewpl:

Quihwpwdhl 36:

Qudwl wnwplw Ehwinhuwind® Lnwwwiht Yupdpwgdwu Yndwynghnwihu windpwignie

Zpuifph zpunftiph wuthwighbphis
Uwutiuljgh vjuhuitightphl hudwyuwnwujuminn
J hudwywwnwujuwing 2 i Unhuiwywunuuuwbim pjut
2/Z winfuimup huyintp
hwjntp hwdwpnun tjupugpniypnil
/shwdwyuinuupuwmbbint
/hudwyunuujuwibyng ool okt “X”/
ntuypnud k) “X7/ AP 28l
1 | Ubpnkhubphu UNC X
X ‘Ukipuyugpty | qudwl hwynh ghtip
2 Euqtip dupdw UNLC ghpwquignn quuyhtt wpwewply
Cunpfud
dwutiuljhg
Uwutrwljhgukph Umubrarygh /ptnnpud Uwutwlgh wowownlud
qpun kgpwbd ghu
ubnk wijwlnuip duutimgh /unuig UZZ, hw wrd/
L hwdwp Lok g Bes G-I
(LX)? /

1 Utnunkuutpyhu UNC 280.0

2 Euqbp dwpdw UNC 980.0
ChnpJws  Jdwubwlghtt  npnolnt hwdwp  Yhpundws — swihwhy  Zpudbph  wwhwielkphi

hudlwywwnwuhiwb hwjn b Wjuqugniyi ghuhtt wpwewnl:
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Quthwpwdht 37:

Qudwl wnwplw E hwinhuwtnd® Lnwwiht updpwgdwu Yndwnghwnwhtu dnpniu wyindpwjnie

Zpuiph zpunjkph wyuhwighbphs
Uwutiuljgh vjuihuiigltphl shudwyyunuujuwing
hudwywunwujuwing Unhuiwwwunuwuhuwbim pjui
2z wijuinidp huguntp
hwjntp hudwpnun tjupugpnypntl
/shudwyuunwuiw ik nt
/huduyunuuwibjnt bwpnid Tk “X7/
nhuypnud ok “X7/ =P 2"
1 rwsywup UNC X
2 |  Ubpnkubpghu UNC X
X ‘Lkipuyugpl) E qudwil hwynh ghtip
3 Fuqtp Supdw UNC qlpwquiignn qluyhl wewgwpy
Cinpdud
dwutiuljhg
Uwutiulhgikpp Uwtrargh /ptunpus Uuutiulgh wnmgupljud
qpuinigpwd ghu
nhnk wijwlnuip \uuliulgh /mnwtg UZZ, huiq. npuad/
np hunfwp kg g » hug. np
(‘X)’ /
1 vwgyup UNC X 180.0
2 Utnuntutpyhu UNC 187.5
3 Euqbip dwpdw UNL 375.0

Chnpjws dwubwlghtt npnoknt hwdwp Yhpwndws swhwithy Zpunbph wwhwbelbphtt  hudwywnwuuwh

huyun b Wjwqugnyb qiuhtt wnwewiply:

Quthwpwdhl 38:

Qudwb wnwpluw Ehwinhuwind® Lhdhwlwu Yupdpwgdwu Yndwynghunwihtu windpwnye

Zpu]tph zpufbph wwhwhghbpht
Uwutuljgh ypuhurligtiphl shudwyunuuuwing
hudwywwnwujuwing Unhudwywnwujuubm pjut
2/z wijuinidp huyuintp
hujintp Jshuntfuyuinur by hwiwnnn tljupugpnypenii
/huduyunuuwibjnt I
nhuypnud oty “X7/ AP 2"
X ‘Ukpyuyugnty k qudwi hwpnh ghtip
1 U2 Lunt vunwwnju qhpwquibgnn qiunhi wowewpy
Cunpfud
Uwubio
Uwubwljhgutph Umubrarygh /pinp qlllllllg Uwubwuygh wnwguplus
qQPuntgpws wijuinudp dwubwlgh ghu
wbnkpp hunfup ok /unwutg UZZ, huq. npud/

«X”/

U2 Lunt vwnwwnyub

60.0
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Cupwugulupgp hwynwpupydty k sjujugus:

Quithwpwdht 39:

Qudwb wnwplu E hwiinhuwinud® Uwnwdubiph hupblgdwsd b nddwp hwuwubih funnnjulubph wuwnhubwwnhly dowldwu
htinnty 54) - Yptignnbun Ywd hwdwpdtip

Zpu]kph

— shtgtiit | St
J hudwywunuwuuwing 2 U Unhudwwywunuwuhuwbim pjui
2z wijuinidp huguntp
huwjntp hudwpnun tjupugpnypnil
/shudwyuunwuiw ik nt
/huduyunuupuwuibjne bwpnud ol “X7/
nhuypnud ok “X7/ ARHPRLE 28
1 | Ubpnkhubpghu UNC X
X ‘Ukpjuywgnty k qudwb hwynh ghup
2 U2 Lunt vwnwwnju qhpuquitgnn qiuhi whwgwpy
Cinpdud
dwutiuljhg
Uwutwlhgukph Umntrarygh /ptinpdwd Uwutwlgh wnwownplusd
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